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Warm-Up (Monday)

1. A functionis described by the equation 7(x) :%xz -2x -3.

The replacement set for the indepenént variable is {0, 6,-12,-21}.
What is the corresponding set for the dependent variable?
a. {-3,1,9, 21}

{3) -0l "E ) q
@-39 117,333} )
{-3.-3,9 33}

1
2. If the slope of a line changes from -5 to —— and the e
¢ — 5

Y-intercept changes from -2 to 0, then the graph of
the line will be affected in which of the following ways?

,ess steep; up 2 units -t 6x ..—2_
Less steep; down 2 unit \
Steeper; up 2 units \
teeper; down 2 units
— m X -\-\9
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*ApPlezions o QUodian 03
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‘vd 1. AsquarefieldhadS metersaddedtoitslengthand 2 metersaddedtoits width.

The field now hasanew areaof 130m?. Find the length of the original field.
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i Person A:
i Person B:
i Person C:
. Person D:

ol O\D YOUR NOWE 0S PERSON 01

i 00 WILL AONE OF LTMTTED (MOUNT OF TLME TO COMPLETE
EOCH STEE OF THE PROBLEM SOLVING PROCESS THEN Y0U
WILL SWETCH FORERS (CLOCKWTSE) FOR ONOTHER TOBLE

4 VEMBER 1O COMPLETE THENERT STEFRE SURE 10 Crick TrE |
PREVIOOS FERSON'S STEPTHLS WILL CONTINUE UNTIL
(CH PROBLEN TS COMPLETED




12 Applications.notebook April 07, 2014

ANpeieaTons 0 OyEe s

STET’ (FERSON O

CTEP 2 (FERSON B)
W R TTE UOUR NOWE 0S PERSON B
B REOD THE PRORLEM OND CHECK
PERSON 01'S \WORK
THEN WRTTE THE FORMULO/
FRUATTON U0 NED

STEE 2 (FERSON C)

WRTLTE YOUR NOWE O FERSON C
y  REOD THE PROBLEM OND CRECE
& FERSON B \WORE
THEN FLOG TN WHOT Y00 ENOW

CTEP 1 (FERSON D)
WRTTE YOUR NOWIE O TERSON d
REOD THE PROBLEM OND CHECK
PIRSON C'S WORK

CRECK PERSON OFS \WORE
THEN CrECE T
REDSONOBLENESS OF Tt
[INSWER
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Algebra I - Unit 9: Topic 4 — Applications of Quadratics
Practice — Applications of Quadratics pp 622-641

Name Date

Period

1. An apple drops off the apple tree from a height of 8 feet. How long does it take to reach the ground? Use the
function f(t] =—16f* + 8 where tis the time in seconds from when the apple was dropped, to find the answer.

A 0.5 seconds
B 0.71 seconds
C 1 second

D  2.23 seconds

Write an equation for each, then solve.

2. The length of a photograph is 1 cm less than twice the width. The area is 45 cm®. Find the dimensions of the
photograph.

3. [If the area of a rectangular garden is represented by the equation 2w + w = 36 where wis the width of the
garden. What is the width of the garden in meters?

4. The length of a rectangle is twice the width. The area is 50 square inches. Find the dimensions of the rectangle.

5. The product of two consecutive even integers is 168. Find the integers.
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Algebra I - Unit 9: Topic 4 — Applications of Quadratics
6. A garden measuring 12 meters by 16 meters is to have a pedestrian pathway installed all around it, increasing the
total area to 285 square meters. Write an equation in standard form that could be used to determine the width of

the pathway. {Do not solve.}

X

12

7-8. Graph each quadratic equation below, then fill in the information.

7. Graph the equation = x> —2x-3.

PR T ")

S S S R I3

8. Graph the equation y -9 = x*-6x

L TR T ")

P S

Vertex:
Maximum or Minimum?

Concave Up or Concave Down?

Vertex:
Maximum or Minimum?
Concave Up or Concave Down?

Solution(s): Solution(s):
Domain: Domain:
Range: Range:
9. The circles below show a pattern.

Stage 1

Stage 2 OO

Stage 3 (ONONCRONONO

Stage 4 ONOLONONONOLAONOLONOION0),

Which expression can be used to determine the number of circles at stage n?

n-1
2n-1
n-1

n-—n

[ B R = = s =
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Algebra 1 - Applications of Quadratics E Table # i

1 Person A: !

2. A softball league has tteams and each team plays all the other E Person B: i
teams in the league twice. The total number of games played, g, ! Person C: !

is shown by g= £ —t. Ifthe Lady Cats softball league plays a E Person D: i

total of 72 games, how many teams are in the league?

Person A: Draw or label a picture of this situation.

Person B initials:

Person B: Write the Formula(s) that you need.

Person C initials:

Person C: Plug in what you know.

Person D initials:

Person D: Get everything on one side of the equation (standard form)

Person A initials:

Person A: Solve. What method did you use?

Person B initials:

" Person B: Check reasonableness of solution.

EVERYONE initials:
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Algebra 1 - Applications of Quadratics ! Table # E
+ Person A: '

3. The length of a rectangle is 7 meters less than twice the ' Person B: !
width. Find the dimensions if the area is 60 square meters. , Person C: i

' Person D: ,

Person A: Draw or label a picture of this situation.

Person B initials:

Person B: Write the Formula(s) that you need.

Person C initials:

Person C: Plug in what you know.

Person D initials:

" Person D: Get everything on one side of the equation (standard form})

Person A initials:

| Person A: Solve. What method did you use?

Person B initials:

Person B: Check reasonableness of solution.

EVERYONE initials:
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Algebra 1 - Applications of Quadratics

E Table # '

4. Suppose a person is riding in a hot-air balloon, 144 feet above the + Person A: i
ground. He drops an apple. The height of the apple above the E Person B: i
ground is given by the formula 4 = -16¢? + 144, where A is height in | Person C: |
feet and fis time in seconds. How long does it take the apple to hit E Person D: i
the ground? e '

Person A: Draw or label a picture of this situation.

Person B initials:

Person B: Write the Formula(s) that you need.

Person C initials:

Person C: Plug in what you know.

Person D initials:

Person D: Get everything on one side of the equation (standard form)

Person A initials:

Person A: Solve. What method did you use?

Person B initials:

Person B: Check reasonableness of solution.

EVERYONE initials:




12 Applications.notebook April 07, 2014

Algebra 1 - Applications of Quadratics T TTTTTTTTTmmmsmmmmmmmmmmmmoommeoomemes o

5. The volume, V, of a cylinder is given by the formula V' = 724, where : Person A:
ris the radius of the cylinder and /7is the height. A cylinder with i Person B:
height of 10 ft has a volume of 140 ft*. To the nearest tenth of a ' Person C:
foot, what is the radius of the cylinder? i Person D:

Person A: Draw or label a picture of this situation.

Person B initials:

Person B: Write the Formula(s) that you need.

Person C initials:

Person C: Plug in what you know.

Person D initials:

Person D: Get everything on one side of the equation (standard form)

Person A initials:

Person A: Solve. What method did you use?

Person B initials:

Person B: Check reasonableness of solution.

EVERYONE initials:
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